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SINGLE CROSS PROBLEMS

1. Cross a heterozygous green skinned zork with a yellow skinned zork.
A. What do the possible offspring look
Like?
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A. What are the genotypes of the possible offspring?

3. Cross a heterozygous green haired zork with a heterozygous green haired zork.
A. What are the genotypes and phenotypes of the possible offspring?

‘h\

4. Cross a green lipped zork with a heterozygous purple lipped zork,

A. What are the number of phenotypes and genotypes of the offspring? Hint: Count what is
in the boxes!

5. Tork, who is homozygous for tall meets Vorkina, who is short.
A. What are the phenotypes and genotypes if they were to have offspring?
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Vorki. Many years later, Torky meets and marries a girl named Morkalina who is short.

A. What are the possibilities for the height of their offspring?

Hint: Look at 5A for information on Torky.

7. Vorki the daughter meets a zork named Spork, who is heterozygous for tall.

A. How many will be tall? How many will be short? How many will be TT?
How many will be Tt? How many will be tt?

8. Torky has green hair and Morkalina has yellow hair. They have four children and all of them
have green hair. What phenotype and genotype must Torky be?

9. Spork and Vorki both have three eyes.
A. What would their offspring look like?

10. Using problems 5-9, give the phenotypes and genotypes of Tork, Vorkina, Torky, Morkalina,
Spork and Vorki based ONLY on the traits given in the problsiis.




